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LHEAZIERZS(11)+(12) 0 0 0
IRAEET 4,830,000 6,349,000 -1,519,000
& 4,830,000 6,349,000 -1,519,000
=51%a 0 0 0
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BENEIESFEYERARS

(REN B EBEFEESPE N ERRELOI T IVERBRUNEXEEMEOAGE (B[

B E & B SEETFHE 2EEFEE = 2
NMEREBEEINA 7,809,000 7,448,000 361,000
BENERIENEFIA 7,188,000 6,674,000 514,000
BEMEIENEHRA 7,188,000 6,674,000 514,000
g N EFHZIENERA 0 0 0
ZTDMDEBEFIRA 621,000 774,000 -153,000
HEBEEENA(BE) 1,000 0 1,000
ZAEFEIA(—H) 620,000 774,000 -154,000
A [FO#DIRA 1,000 1,000 0
HUALA 1,000 1,000 0
—~ MILA 1,000 1,000 0
2 BEFEBILAGO) 7,810,000 7,449,000 361,000
" AFEXH 6,798,000 6,112,000 686,000
BE S H 2,834,000 0 2,834,000
= BEE5 M 371,000 0 371,000
FEHBEKSXH 2,743,000 5,276,000 -2,533,000
& EERANEXN 850,000 836,000 14,000
FEEXH 1,436,000 1,563,000 -127,000
et HEREREREX N 40,000 40,000 0
HRIEHZH 15,000 40,000 -25,000
& EEHETH 577,000 577,000 0
2 ¥ HgEX N 216,000 216,000 0
HFERHE 216,000 216,000 0
Iz REXBEXH 10,000 10,000 0
SR ERE X H 10,000 10,000 0
% | HEREEXH 10,000 78,000 ~68,000
— HMRAXEXH 6,000 10,000 -4,000
BEEXH 100,000 150,000 -50,000
BIEERE X H 190,000 200,000 -10,000
FHH X 10,000 25,000 -15,000
REHX 261,000 216,000 45,000
BEEXH 1,000 1,000 0
EREXH 60,000 60,000 0
EHNELEBEZH 60,000 60,000 0
BEFHFTHEN) 8,294,000 7,735,000 559,000
BEFHESINZ EEQ)=(1)-(2) -484,000 -286,000 -198,000

| 4

| A | EHEEIRAG 0 0 0
A B & RSt 2,000 2,000 0
I £ % HImERE RS H 1,000 1,000 0
E L AR HEREREIH 1,000 1,000 0
—F BERUVERIEXHE 1,000 1,000 0
=< TR R e & R HEHE) 2.000 2,000 0
f [ hREREEE NEEB6)-4)-() ~2.000 ~2.000 0
~ | H—E AR REEAEIA 1,000 1,000 0
z H—EARSBBRAEIA 1,000 1,000 0
)] A K—hALT B R AR S REARIA 1,000 1,000 0
ftd ZORDEHRATD) 1,000 1,000 0
fg AR SEBAZ XS 1,000 1,000 0
fﬁ % ME RN BBAERH 1,000 1,000 0
- S EEM AR SERAEIH 1,000 1,000 0
& H—ERARSHEREAEXH 400,000 400,000 0
5 | W H—EXAR S EREAEH 400,000 400,000 0
i F-bALTERY-CAR S RRAS XS 400,000 400,000 0
*x FDOEBZHEH®) 401,000 401,000 0
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B E H H SEEFHE 2EETELE = B8
— | ZOMDEBEFIRZ EFH(9=(1)-8) 400,000 400,000 0
¥ lim & H(10) 10,000 10,000 0
LHRE SN EF A 51(11)=(3)+(6)+(9)-(10) -896,000 -698,000 -198,000
TEESEN- YD) 896,000 698,000 198.000
LHR T ERZS(1)H12) 0 0 0
IRA &G 8,707,000 8,148,000 559,000
XHEE 8,707,000 8,148,000 559,000
EZ5EE 0 0 0
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R—LANILTEEY—ERARS

CHEN EELFESTE NERRELOFREN L. LA -BUBB AN -OAH (B [)
B FE ® B SEETFHE 2EETFEER = &8
ZEEIA 1,000 1,000 0
HRETFZEEEIRA 1,000 1,000 0
FETHIBAN-REFEZITIENA 1,000 1,000 0
FEIIA 30,000 30,000 0
ZTDDBFIRA 30,000 30,000 0
FIAFURA 30,000 30,000 0
TEREEEIRA 12,530,000 12,395,000 135,000
BEMELULA (rERMIA) 6,519,000 6,519,000 0
TR A 6,518,000 6,518,000 0
& F I ERAANA 1,000 1,000 0
EBENEERA FIRERESNA) 727,000 727,000 0
NEEESWA—R) 724,000 724,000 0
IR NESEFIRANE) 1,000 1,000 0
NEFHEEEIRAR) 1,000 1,000 0
NETHEESIADLE) 1,000 1,000 0
NEFH- BRETHELEBLRA 5,283,000 5,148,000 135,000
A EX 30PN 4,803,000 4,680,000 123,000
EEEAESPRA(2E) 1,000 1,000 0
EXEHPFIA(—H) 479,000 467,000 12,000
ZDNBEIWA 1,000 1,000 0
SEBEFEIA 1,000 1,000 0
- ZDHNDURA 2,000 2,000 0
= ZAFEEIRA 1,000 1,000 0
FEULA 1,000 1,000 0
£ HURA 1,000 1,000 0
ZHHBELSEIRA 1,000 1,000 0
b ZHHEERYEIRA 1,000 1,000 0
ZHFH BESEINA 1,000 1,000 0
L)) BEEZERA) 12,564,000 12,429,000 135.000
- ABEXH 12,863,000 12,696,000 167,000
- BEREXN 2,996,000 4,633,000 -1,637,000
£ BEE5 XM 891,000 1,187,000 ~296,000
FEHHEHSIH 8,375,000 5,836,000 2,539,000
P4 EEEANEXH 601,000 1,040,000 -439,000
BEEXH 1,153,000 1,153,000 0
IR REmEEXH 5,000 5,000 0
PRF & X 10,000 10,000 0
X HERBERREXH 1,000 1,000 0
—~ FIEH X H 530,000 530,000 0
X EiEFxZH 315,000 315,000 0
HifE X H 127,000 127,000 0
HRREEEXH 1,000 1,000 0
H HMmpMHE 126,000 126,000 0
WREXABEXH 1,000 1,000 0
HBAREXH 1,000 1,000 0
HEMREXH 1,000 1,000 0
SEEES S0 1,000 1,000 0
BEEXH 100,000 100,000 0
WS E IR E 1,000 1,000 0
LEREX H 10,000 10,000 0
FHHZH 1,000 1,000 0
HeBEXH 10,000 10,000 0
HHEXH 30,000 30,000 0
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B E 8B B IEEFHER 2EEFELEE = 5
BEEXH 10,000 10,000 0
BREXH 195,000 220,000 -25,000
BEAEEEXH 195,000 220,000 -25,000
BEITHZHED 14,211,000 14,069,000 142,000
X FH9EF ST EEEQR)=(1)-(2) -1,647,000 -1,640,000 ~7,000

| X

i A TSR B RFIRA 4 0 0 0
=% B & ERSXH 2,000 2,000 0
InE | x HiERE RS H 1,000 1,000 0
X1 HRERERSXH 1,000 1,000 0
5| SERUBLREXH 1,000 1,000 0
= e E S ATRIO) 2.000 2,000 0
S hRBEREE SRR =64 5) ~2.000 ~2.000 0
WE X ERAEIA 800,000 800,000 0
WE X REEAEIA 800,000 800,000 0
'{j I BERE-CABERMARSHBARIA 800,000 800,000 0
) Y—EAR S EBRAEUIA 400,000 400,000 0
wo| A Y —E AR S EERATIRA 400,000 400,000 0
D BENHEXEEEI-UARSHBASRA 400,000 400,000 0
& Z DD FEIRAGT) 1,200,000 1,200,000 0
) a X ERAEXH 273,000 263,000 10,000
= MERSERASXIEH 273,000 263,000 10,000
& | % B BRI AR SREA ST 273,000 263,000 10,000
f’ F—EARDRIBAZ X H 1.000 1.000 0
é i H—EARPRRASTH 1,000 1,000 0
— BENMEIEEEY-ARSHEBASXH 1,000 1,000 0
ZDHD;EEI R HEHE8) 274,000 264,000 10,000
ZDMDEBE RN ZFA(9)=(7)-(8) 926,000 936,000 -10,000
FiREXHA00) 1,000 1,000 0
L ERINFZ EFES 51(11)=(3)+(6)+9)-(10) -724,000 -707,000 -17,000
TEESE R e I-P) 724,000 707,000 17,000
LHEFIERZRSU1)H2) 0 0 0
IRAEET 14,488,000 14,336,000 152,000
X HEE 14,488,000 14,336,000 152,000
=51%5 0 0 0




BEERUY—ERFEY—EXRXS

(BEERENEEELELTE BESRATIERCEKEENESE. BB -DA  (BEi:[)

B & ® B IFEEFEHEE EETHE = =2
BREREEREIRA 1,000 1,000 0
LSRR e RN 1,000 1,000 0
ZDM D@ EIRA 1,000 1,000 0
pEEEM Y —E AZREIA 4,812,000 4,812,000 0
IR BIXEBRHABIRA 4,264,000 4,264,000 0
MR TERA 4,264,000 4,264,000 0
FAFGHEEIRA 452,000 452,000 0
—~ ZFDMDEBEFIRA 96,000 96,000 0
2 |A BOEEENA(AE) 96,000 96,000 0
" ZRABERESRILA 1,000 1,000 0
ZIABERSEINA 1,000 1,000 0
= ZIRFIBE A ERA 1,000 1,000 0
FEFEINAFD) 4,814,000 4,814,000 0
) AEEXH 3,605,000 2,938,000 667,000
FEHHEHKSTIH 3,605,000 2,938,000 667,000
{2 FEEXH 2,507,000 2,413,000 94,000
REGHEEXTH 50,000 50,000 0
ES HERERERBEXH 320,000 320,000 0
z SEH3IH 296,000 296,000 0
¥ HFEXH 1,354,000 1,254,000 100,000
Iz HREEEX N 814,000 714,000 100,000
HipRH & 540,000 540,000 0
¥ mREXBEH 26,000 26,000 0
| EBARBEXRHE 26,000 26,000 0
HHEM R E X H 10,000 10,000 0
HRIEAE X H 130,000 136,000 -6,000
EREXH 100,000 100,000 0
BEERE X H 201,000 201,000 0
FHEHXE 20,000 20,000 0
EEIHTHEHQ 6,112,000 5,351,000 761,000
BEFHESINZ EEE(R)=(1)-(2) -1,298,000 -537,000 -761,000

o )¢
iimﬁ A |[HERBHEEIIRAG) 0 0 0
L B3

E{% e RIEE R HEHG) 0 0 0
ol TR EiEEE I EEE(6)=(4)-(5) 0 0 0
;ﬁ;ﬁ; Iz H—E AR ERAEIRA 500,000 200,000 300,000
1= Y —ERARSRBRAEIRA 500,000 200,000 300,000
% it A AREEEE-CARARBARINA 500,000 200,000 300,000
—- @ Z DD EFEEIUNAEHT) 500,000 200,000 300,000
SRR AETH 4,000 4,000 0
— MRS ERAREIH 4,000 4,000 0
% b3 EERLPERARARRAS L 2 000 2.000 0
"'k 1)) HEHSESEMARSERAZXN 1,000 1v000 0
ﬁﬂh H NERBRERRARAMRARIS 1,000 1,000 0
%P H—ERAXSEBAEIH 1,000 1,000 0
L] H—EARDRBBASTH 1,000 1,000 0
2 B BB AR AHEAS 1,000 1,000 0
1= Z DD EE T HEH(8) 5,000 5,000 0
Z DD EENE & Uk Z 58(9)=(7)-(8) 495,000 195,000 300,000
¥ R & 2 H(10) 10,000 10,000 0
LA ST EEEAE(11)=(3)+(6)+(9)-(10) -813,000 -352,000 -461,000
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i %k B H IEEFHE 25 EFHEE = £
AR ERIEE02) 813,000 352,000 461,000
LHRTILERZES11)H12) 0 0 0
IRAEET 6,127,000 5,366,000 761,000
& 6,127,000 5,366,000 761,000
R 1) 0 0 0
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BRXESFEY—ERARD

(EEREENYEEEEETE BEELATEACEOGIERRY -t AEMAMHEON  (BEf:A)
BEREB IEETHE 2EEFHE = =5

BREgEERTIA 1,000 1,000 0
XA B EUIRA 1,000 1,000 0
I ZDMDHEIEULA 1,000 1,000 0
EEEUAY—EXFEEIRA 1,943,000 1,165,000 778,000
B XEHTEIRA 1,942,000 1,165,000 777,000
BRI TIERITEIRA 1,942,000 1,165,000 777,000
~ | A ZOMOEENRA 1,000 0 1,000
5 BHESZNA (AE) 1,000 0 1.000
" EEFHRAE) 1,944,000 1,166,000 778,000
AMEEXZH 1,228,000 0 1,228,000
SE BB #aH X H 1,228,000 0 1,228,000
FEEIH 714,000 535,000 179,000
&) A E X 1,000 1,000 0
HEREREREXH 20,000 20,000 0
< RIEH X H 8,000 7,000 1,000
SERXH 234,000 234,000 0
& HmEXE 159,000 36,000 123,000
z ¥ HFRESFEXH 100,000 0 100,000
HEERHE 59,000 36,000 23,000
Iy fik B 3338 £ 3% 15,000 10,000 5,000
BHERE 15,000 10,000 5,000
% | HERREZH 20,000 20,000 0
— HMRAREXH 1,000 1,000 0
BiEEX 100,000 50,000 50,000
BIEEREXH 20,000 20,000 0
FHCH X H 10,000 10,000 0
RFHE X 126,000 126,000 0
EEETHZIHED 1,942,000 535,000 1,407,000
FEEFTHESINFTEZ(BR)=(1)-2) 2,000 631,000 —629,000

=, | I
iﬁ}j’@ A [HEREREZRAGG® 0 0 0

= X
SR W A BREEFHEG) 0 0 0
Al R EREE SN EE(6)=(4)-5) 0 0 0
H—E AR DA EIRA 1,000 1,000 0
}; 4z H—E AR D REATIA 1,000 1,000 0
O A WEEA Y-t AE LU AR S RRASIA 1,000 1,000 0
it Z DD FEBUNAET(T) 1,000 1,000 0
D WEXoEBRASZH 800,000 800,000 0
b PaESERAEIH 800,000 800,000 0
@] NERBRBERSEOEBARTW 800,000 800,000 0
S| X [V—EXRRREERAEXH 501,000 201,000 300,000
& | H—EARDREBRASIH 501,000 201,000 300,000
6 MEFUYS—CRAFRY-CARSMBRAEZH 5001000 200,000 300,000
”é TR ESEEF RS CARAMAALH 1.000 1.000 0
_. ZF DD FEH T HEH8) 1,301,000 1,001,000 300,000
ZOMDEEE B INT ZFA(9)=(7)-(8) =1,300,000 -1,000,000 ~300,000
Fim & H(10) 2,000 2,000 0
L E F X Z G ET(11)=(3)+(6)+9)-(10) -1,300,000 ~371,000 -929,000
BRZINERZ=(12) 1,300,000 371,000 929,000
LR TIEEZRS(11)+12) 0 0 0
IRAEET 3,245,000 1,538,000 1,707,000
FHEE 3,245,000 1,538,000 1,707,000
E515%5S 0 0 0




YAESEEMEEREEY —ERARD

(Ml B RIEE U A—YAESEEFMDZITEETE) (Bfr:[)

#BEHE B SEETFHE 2EEFEE = =5
FHAEILA 1,000 1,000 0
FHAEUA 1,000 1,000 0
ZTOHMDFHFERA 1,000 1,000 0
ZEHEIA 33,347,000 35,249,000 -1,902,000
)} HXEHZEERULA 33,347,000 35,249,000 -1,902,000
YAESHLETHBEELIRESRA 33,347,000 35,249,000 -1,902,000
EEIIRA 3,200,000 4,000,000 -800,000
FRDEFIXA 3,200,000 4,000,000 -800,000
A EETEUA 3,000,000 4,000,000 -1,000,000
FI R FEHRA 200,000 0 200,000
S EELEIIA 1,000 1,000 0
ZIASERYEEIRA 1,000 1,000 0
ZHFERIFIA 1,000 1,000 0
— BETENRAG) 36,549,000 39,251,000 -2,702,000
4 AHEH 27,612,000 25,720,000 1,892,000
BERHXH 18,265,000 16,742,000 1,523,000
E 3 BEES5XH 4,133,000 4,022,000 111,000
EEHMBEIE5 W 1,656,000 1,656,000 0
& EERMNEIH 3,558,000 3,300,000 258,000
BEEXH 7,928,000 9,158,000 -1,230,000
Y RERHEEXH 40,000 40,000 0
- KEFEE T H 1,355,000 1,310,000 45,000
- BB H 180,000 180,000 0
£ | X HERERSEXL 400,000 572,000 -172,000
FRIEFH X H 600,000 647,000 -47,000
% ERHIH 344,000 232,000 112,000
BEREEXH 310,000 330,000 ~20,000
4% HEEX N 900,000 1,088,000 -188,000
BRREZEEXH 500,000 530,000 -30,000
X EmREE 400,000 558,000 ~158,000
~ REXAEX L 140,000 140,000 0
HREREH 140,000 140,000 0
23] HHEMEE W 30,000 30,000 0
BiEEXH 200,000 200,000 0
BIEERE S H 250,000 260,000 -10,000
SEREXH 15,000 15,000 0
FHH I H 100,000 50,000 50,000
HEEXH 64,000 64,000 0
EEITEEXH 3,000,000 4,000,000 -1,000,000
BHREXH 230,000 380,000 -150,000
HNg 0 150,000 -150,000
EHEEEXH 230,000 230,000 0
FEFYPIHE) 35,770,000 35,258,000 512,000
BETHESINEFEOB)=(1)-(2) 779,000 3,993,000 -3,214,000
| B EHE R EIRFIRA 0 0 0
w | A B EFIAG 0 0 0
=% EEEERGEXH 3,000 3,257,000 -3,254,000
g & HERE RGN 2,000 3,256,000 3,254,000
x| X FEERE RGN 1,000 3,245,000 -3,244,000
—5F | YUY AN BRE TN 1,000 11,000 10,000
I EZER U ESIEXH 1,000 1.000 0
c%k) TR R E R HEt5) 3,000 3.257,000 ~3.254,000
BEEEEE SN EEE(6)=(4)-(5) -3,000 -3,257,000 3,254,000
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B H SEEFHE 2EETHE = =R
— H—ERARSEBAEIA 1,000 1,000 0
z | W H—E AR D EEAFRA 1,000 1,000 0
2® A BT EBRY-CARSEEARIA 1,000 1,000 0
Wﬁt F DD FEIHIRA D) 1,000 1,000 0
% P L s XS R A & 32 777,000 737,000 40,000
REAE ME XS EEAEXH 777,000 737,000 40,000
2| W B B B R A S % 777.000 737,000 40,000
I= F D0 58X EHE) 777,000 737,000 40,000
S [ ZORDEDESREERO-E) ~776,000 ~736.000 ~20.000
FlEEXH0) 0 0 0
LHIE SN K ZE RS EH(11)=(3)+(6)+9)-(10) 0 0 0
BRI EREE2) 0 0 0
LHERFIESZE11)+(12) 0 0 0
IRA&ET 36,550,000 39,252,000 -2,702,000
&R 36,550,000 39,252,000 -2,702,000
=Z51%a 0 0 0
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HEEUMEEEREEY—EARS

_22._

(HEBRUSESHEEEETE EFRSEHBHIHLTOENER) (B M)
B E ¥ B SEETFELE 2EETEEE = =
— BEHEFERA 1,000,000 1,000,000 0
= EEEIRA 1,000,000 1,000,000 0
% | W [ZBABEIBIA 1,000 1,000 0
& LA ZHF AR LS SIA 1,000 1,000 0
Y SHFEESERA 1,000 1,000 0
& EEEFHIAG) 1,001,000 1,001,000 0
5 | % SENEEXH 2,902,000 2,902,000 0
4 m SHEXH 2,902,000 2,902,000 0
X BEIHRHEQ) 2,902,000 2,902,000 0
- EEHESUNETEER)=(1)~2) -1,901,000 -1,901,000 0
e 't
L A [FEERS AR 0 0 0
o3 B
@% H [ EREREXHEG) 0 0 0
Al R B EEE SN E56)=(4)-(5) 0 0 0
— PR XD EBEAEIA 1,000 1,000 0
s WA XHRAFIA 1,000 1,000 0
2 ‘g A EERTEEBERARSMAAREA 1,000 1,000 0
lbl{(,) Z D DEBIRAE(T) 1,000 1,000 0
Xz [ X
Vg | B [FOHOFETHEHS) 0 0 0
1= | Z0tDFEBE IR ZE8(9)=(7)-(8) 1,000 1,000 0
FIREXH(10) 0 0 0
LHIERINFZ ZFE S E 1 1)=(3)+(6)+(9)-(10) -1,900,000 -1,900,000 0
IR X Th & & Je e (12) 1,900,000 1,900,000 0
LHEXFTIEEESU1H12) 0 0 0
IRAEET 2,902,000 2,902,000 0
X &R 2,902,000 2,902,000 0
E515%S 0 0 0




SHREEEMNEEYLARS

(BHEEREENSEEEETH) (Bfi:M)
B E ® H IEEFHEE 2EEFEE = &8
— ERAEERA 50,000 50,000 0
£ | EEEIA 50,000 50,000 0
x ZRAEAREIERA 1,000 1,000 0
& | RERABESERA 1,000 1,000 0
;EP ZWMHEEHEILA 1,000 1,000 0
£ EEFHIRAGD 51,000 51,000 0
5 | 3 BEfEEXH 1,733,000 1,733,000 0
o 0 HiiEXH 1,733,000 1,733,000 0
X BEIHRHEQ) 1,733,000 1,733,000 0
— BEFHERINTEE(3)=(1)-(2) -1,682,000 ~1,682,000 0
=, )13 _ _
& I°1E A |[FEERBBEIAGAE) 0 0 0
TEH X
q?; {% B R B E S HEH5) 0 0 0
Al R EEEESIRET E5H(6)=(4)-(5) 0 0 0
— WE X ERAEIA 1,000 1,000 0
AR LR EBRAEIRA 1,000 1,000 0
3 g)ﬂ A EERTEEFEMARSMAASIA 1,000 1,000 0
gy Z DD EEIRAE D) 1,000 1,000 0
2 | X
Ty [ W | ZOMOEETHESE) 0 0 0
2| 20ibD;EEE RINFT EEA(9)=(7)-(8) 1,000 1,000 0
FIHEEXLH0) 0 0 0
HEE UK EEESET(11)=(3)+(6)+9)-(10) -1,681,000 -1,681,000 0
AR EEREE(2) 1,681,000 1,681,000 0
PRI ESRZSU1)H(12) 0 0 0
IRAEET 1,733,000 1,733,000 0
&R 1,733,000 1,733,000 0
5145 0 0 0
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EEEUECEAEET L ARS

BREHBIAODEEFRUEEETEEZIETH) (B[
B E B B SEETFTHE 2EETHE = =%
SZEEWA 1,721,000 721,000 1,000,000
BT R B IERINA 1,721,000 721,000 0
Iz £ERUMEEEABERZAENRA 696,000 696,000 0
LERUNERHAEERATOA R 25,000 25,000 0
FERUAEERATEEZASPACORFEER) 1 '0001000 0 1 ,000,000
% ZEH BB LS IA 1,000 1,000 0
= | A ZRF BRI SNA 1,000 1,000 0
E SRR S EIA 1,000 1,000 0
) FEFHIAG) 1,722,000 722,000 1,000,000
[z AEEXH 1,568,000 635,000 933,000
& BEREEH 1,568,000 635,000 933,000
5 | [EEEXH 154,000 87,000 67,000
i BREEERREXH 68,000 44,000 24,000
f FIEES 63 1,000 0 1,000
BEERE 76,000 34,000 42,000
i SHEXH 2,000 2.000 0
FHHZH 7,000 7,000 0
FERFYXHEQ) 1,722,000 722,000 1,000,000
BEETHESINZEER)=(1)-(2) 0 0 0
=, | 4R
ﬁﬁﬁﬁ A (B HEFIAGW) 0 0 0
SR X
@fﬁ H R ERE R HEHG) 0 0 0
Al R B EEE T E5(6)=(4)~(5) 0 0 0
s, | UX
wg% A |20t DEEURAEHT) 0 0 0
¥z ¥
~oggﬂ H [ Z i Es X HEHE) 0 0 0
N #DDEEE SINT EEE(9)=(7)-(8) 0 0 0
¥ i & X H(10) 0 0 0
LHRE DUV EEE A EH(11)=(3)+(6)+(9)-(10) 0 0 0
PR TIEEZRE2) 0 0 0
LHERIIESZRS11)H12) 0 0 0
IRAEET 1,722,000 722,000 1,000,000
ZHEE 1,722,000 722,000 1,000,000
=515%5 0 0 0
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(EERMEEEETE EERTORAFRUMERER) (B [)
R B SEETHE EETFEE = B
FFRILA 1,400,000 1,400,000 0
.| REZETHAEWNA 1,400,000 1,400,000 0
= ZHUR BEHEULA 1,000 1,000 0
F 3 ZMAREHEIRA 1,000 1,000 0
= | A EBRTEMHERLSIRA 1,000 1,000 0
) REFHIAGA) 1,401,000 1,401,000 0
(Z FXEXH 1,400,000 1,400,000 0
& | x SEERH 0 0 0
% EERTEEXLE 1,400,000 1,400,000 0
”é BEXHE 1,300,000 1,300,000 0
ol L — R & 100,000 100,000 0
BEFHZHEN) 1,400,000 1,400,000 0
EEHESINETZEFB)=01)-(2) 1,000 1,000 0
=, | IR
ifim A REERERAT® 0 0 0
L E
ﬁ? H R EEETHEEG) 0 0 0
Al R REE SN = 58(6)=(4)-(5) 0 0 0
— WA RS EEAEIRA 0 0 0
z | IR ME XD BBAEIIRA 0 0 0
DA i rE A P A R AR ARULA 0 0 0
it ZD MO EHIRAGD) 0 0 0
34 NARSERASXH 5,000 1,002,000 ~997.000
% | % WERDERAS T 5,000 1,002,000 997,000
(= " igE BRI A X DFERA X 3,000 1,000,000 -997,000
X POERPERAESERAEXE 2,000 2000 0
u?z Z Do & B % A (8) 5,000 1,002,000 997,000
ZDMDEBE TN ZEA(9)=(7)(8) -5,000 1,002,000 997,000
_ FiREXH(10) 2,176,000 1,401,000 775,000
LHERE SN EEE S ET(11)=(3)+(6)+(9)-(10) -2,180,000 -2,402,000 222,000
BHERZINVESZS12) 2,180,000 2,402,000 -222,000
LHRTIEEZRSU1)+12) 0 0 0
IRA&ET 3,581,000 3,803,000 -222,000
XHEE 3,581,000 3,803,000 -222,000
=51%a 0 0 0




ROERESEEEFEY—EARS
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(MOEESEETE AR EUIREETOMNEFER) (BH1:[)
B E # B SFEEFHEE 2FEETRE = B

- FiTRIXA 100,000 100,000 0
5 WROEREFHERA 100,000 100,000 0
£ ZEH BB HBIIA 52,000 63,000 -11,000
=R ZIFIEEHEIA 52,000 63,000 -11,000
By | A SHEFRRYEIA 1,000 1,000 0
(= WORBSWTEESIHE 50,000 50,000 0
& KROZEESFEHBDUNA 1,000 12,000 —11,000
lﬁ BEFHRAG) 152,000 163,000 -11,000

53
X [ FEEREaH0 _ 0 0 0
BEFPESINZEEQ)=(1)-(2) 152,000 163,000 -11,000

e
5 |- 1 A MR EHFIIRAGG@ 0 0 0

ot B
@Té H (e R E X HET5) 0 0 0
Al R EEERINE E58(6)=4)-(5) 0 0 0
~ |1 HEEITEENGERA 16,913,000 11,897,000 5,016,000
z A WDEREIET E ERAERA 16,913,000 11,897,000 5,016,000
D Z DD EEPUNAEHT) 16,913,000 11,897,000 5,016,000
ftd BEAMIaEREXE 0 0 0
fg BEAMIIEREXE 0 0 0
{§JJ ¥ EeBELEEXH 152,000 163,000 -11,000
(= MOEERIBIFEX W 152,000 163,000 -11,000
£ |y [RERRDERASI N 16,913,000 11,897,000 5,016,000
3 PR X oBEAEXRH 16,913,000 11,897,000 5,016,000
I shiE R R R BR XA HRA R 16,913,000 11,897,000 5,016,000
53 Z DD FEE R HEH(8) 17,065,000 12,060,000 5,005,000
— | xDMHDFEHERINZ ZE8(9)=(7)-(8) -152,000 -163,000 11,000
FimEX H(10) 0
LHE LU EZEB S EH(11)=(3)+(6)+(9)-(10) 0 0 0
TR R b e & e (12) 0 0 0
HEREINESESU1)+(12) 0 0 0
IRA&ET 17,065,000 12,060,000 5,005,000
THEE 17,065,000 12,060,000 5,005,000
=5|5%= 0 0 0




